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BEYOND MmATHS

Money
Calculating
Change

Find the total cost
and the change from
twenty pounds (£20).

Then, use the key to
shade each section in
the correct colour.

Light

brown 0-49p

Light

green | 50PE1:00

Dark
green

£1.01-£5.00

Black [£5.01-£10.00

Blue |£10.01-£11.99
Light | -1 00-£14.99
blue

Cream [£15.00-£18.99

Brown |£19.00-£20.00

£3.33, £1.67

£1.99, £0.61

£4.99, 1000p

£0.77,293p

50p, 75p, £1.75

£18.21,79p

£9.99, £4.76

75p, 325p

£11.20, 97p, £7

97p, £1.03

£1.17,£2.90

111p, £1.09

98p, 3p

1 £4.99,

N
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9p, £7.01
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£1.99, £0.61

£1.17,£2.90

£11.20, 97p, £7

£4.99, 1000p
Find the total cost

75

and the change from £325.1 P
twenty pounds (£20).
Then, use the key to
shade each section in £3.33, £1.67
the correct colour.

£0.77,293p £18.21,79p

111p, £1.09

Light
brown
Light
green

Dark
green

0-49p

50p-£1.00

£1.01-£5.00 98p, 3p

Black [£5.01-£10.00
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